1. V2T=aV3, Vi2=6Vb & W, a+b 9] }Z Fstoizh

V27 = VOx3=3V3
La=3

V2= V6x6x2=6V2
T bh=2

L a+b=>5




2.

VI2x VI8 x V75 =aV2 & W, a 9] 7t2?

@ 12 @ 15 ® 30 @90

® 120

B

V12 x V18 x V75

= V22x3x V32x2x V52 x 3
=2v3x3V2x543
=10x3x3V2=90V2
wa=90




3. W25 & Y2 ALY
@ V20=2+5 @ V27=3V3
® Vi8=4V3 @ -+50 = -5v2
@)-vB=-3v7

‘ ® -vV28 =-2V7




[
=

2.
I
=

7 %
Q@ @

(K=}
Il




5\/5=\/5,—— -Vb & W a, b °] FHE Fotefet

>
[ 2
> " =125
>

20
BEIb=3
2 20
5v5 = V125, \/_ - EO]EE
20

a =125, b——olt]'




Te-ag/3--77

o 20 o @n  ©n

AAZEG o] Yol (7ha)x (A=) olnz
2V3x V5 =2V15 = V60 oI
wh2bA a o] g2 60 ©|t.




:
ot
w

iy

\VARR 4
0
L
&

- —= & 193] stofet

.a%

Sl

=5V3- ‘/_
=5v3- 3«f
=243

= VEX5x3 -

93
33




M— V3IXx3X2x2x%x2
V55

2
:3X5X‘/_—6\/§

=3V2-6V2
=-3V2

&) =




V2-1

9. TeF & vk g e

V2+1 a
® 2-2 @ 1+ V2 ® 4-2+2
@ 5+ V2 @)3-2v2
(V2-1)?

=3-2V2

(V24+1)(V2-1)




10.

D V3 @)2- V3 ® -2
@ 2+ V3 ® -2+ V3
1 2- V3 o

V3+2 (24 V3)(2- V3)




11.

2V3
2+ 13

A
T

® 4V3+6
@ 247

& felsiala?

@—6+4\/§
® -5V7+38

® -4V3-6

2V3(2 -

V3)

(2+ V3)(2

V) =4V3-6




B

V21

1o,
M
Ha
il
o

5

a

@ 2 3)3

@ 4

@iststal = Ak ] . a o] ghe?

® 5




\/52
® V2 @? ® V5 @g ® VI5
B
3
SR CREEE b ke
:3\/__3«/_><\/_
4vV3  4V3x V3




14. 2V3+3V2x V27 & 7ol sfeizt.
> E!
> ®E: 3v2

B

9V3 < 3VIx VI — 23 x —— x 33
3v2

‘%ﬁlm

o<
=2

[ —
w
ﬁw
S




15. 5v2 =35 x6V10 < 7te+s] stoiet,

> E.

> =g 20

B

1
5\/§+3\/5><6\/E:5\/§><ng6\/ﬁ

=10V2V2
=10x2
=20




16.

o

o3







18. 53— m—%+ VIZ = a2+ b3 & o, 925 4, b O] FLE
Fstolat.

> E.

=
H =

vV V V¥
0x
i
Q
I
>~

0
i
S8
I

|
o

~&B

2
5\/_—‘/%—754-@

=5v2-5V3-V2+23
=4v2-33

oty WetA a = 4, b = -3 o]},







20. 4V5+6vV2+3V5—4V2E 75| 5HH?

D V5-2v2 @ V5+4V2
@ 7V5-2V2 @75 +2v2

® 2V5+52

4V5 +6V2+3V5 - 42
=(4+3)Vo+(6-4)V2
=7V5+2v2




